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N.B.: (1) All questions are compulsory. f-,. S &
(2) Make suitable assumptions wherever necessary and gtate the assumptions m
(3) Answers to the same question must be written togetl_le D PR e
(4) Numbers to the right indicate marks. AN SN 5
(5) Draw neat labelled diagrams ‘wherever necessdgg
(6) Use of Non-programmable calculators is allg ﬂ.-.

Attempt any three of the following:
Write a short not eon geospatial data.
List and explain various types of map pmjectibm
Explain the data structure of a polygon coverage
Explain any two types of raster data. . «

BRR R

Attempt any three of the followmg, A S O S F

List and explain various data creation 1¢chn1que& b T
Write a short note on data CONYRIYION. -~ &/~ .0 £ &
Explain the map to map and image o map transfurmaxmn

List and explain different typbs» of ge‘omctﬂc transfonnanm ¢ \l D
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Attempt any three of tlﬁ: ibﬁowing 9 .f Pk 10
Explain various relationships betweer tables EEEE O
Explain the concept-of normdjmﬂen T TR Y S 3
List and explain d{fferen‘g types: of map.’ S O
What is data clasaﬁcatmm* Explama ;; L
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ree of ﬁle follow“ing. fa s DL 10
Write a shorfnbtg on qttribute Hata query P Vo
Explain descﬂgtwe sﬁnlstlcs : T ar
Whats the oulpﬂt of: ﬂ-le fﬂllowmg for a statemerﬁ (s]ope =1) AND
(NOT(Aspect=d)).- {
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o What do yqu undet‘stﬁndby spatlai data query?

YA g
) }'__»..Q&twmpt M@g ofthe’ fnllowu:g 10
> What' is-buffering? Wmie down the applications of buffering.
: :W;t;at* da‘yt:u fneaﬁ“b}' p@t&em analysis? Explain Nearest Neighboor analysis.
- Write the | gm:poﬁe of the followmg map mampulat:on operations with example.
2 \i, Efase <7 "4, Upﬂate iii. Select iv. Eliminate V. Clip
What 18 Iacal ofaﬁatxbn" Explain local operation with a single raster.
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Attempt any three of the following: L D o
List and explain the elements of spatial interpolation. ,‘_?J A
Explain the Thin-Plate Splines local method. '
What is spatial interpolation? What are spatial mterpolatibn types? A
Explain any one type. S it S
What is kriging? Explain universal kriging. o ey -;_?" Byt 0 ey

Attempt any three of the following:
Explam the following with example

L Association  ii. Aggregatlon o ) '
Write the importance of control points in gﬁinetnaﬁsfhnqatwn
Write a short note on map production. =~ -
Explain different types of graphs. -
Explain the Density Estimation local iﬂ!thcﬁ
Explain the Thiessen Polygons localméthod

\
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(2% hours)

N. B.: (1) All questions are compulsory.

0 1o5E

(2) Make suitable assumptions wherever necessary ahd: gggg tl_le agumntmg made., ‘

(3) Answers to the same guestion must be wrltteg_i gg!;gri, Qe _
(4) Numbers to the right indicate marks. Y gy ‘ ', L7, o) A
(5) Draw neat labeled diagrams whercverw Sl DL S
(6) Use of Non-programmable calculators is: gllﬁwgﬂl SN 28 AT NG

Wl P DI S 3 AT B A

Attempt any two of the following: 5N S P ;
Explain Boehm’s principle for examining | how fo staff for soﬁWare prbject
Explain the three levels of processes and its attributes. . - ' '
What are the five basic parameters that are. mvolved in esumatmg the cast of | soﬁware
project? e

Explain the five symptoms of a pi'o}éct that:is haaded for tmuble

Attempt any two of the faﬂawmg* : " ‘

List out the life-cycle, phztses of modem soﬁware deveiopment process State the
objectives of each phas& Q5 -

Briefly explain the different artlfacts i the management set

Explain the techmf:al peispective of seﬂWare atchitecture. :

Map the process thmﬂﬁnt parameter's of the COCOM@ 1l modej {0 the principles of a

modern process

Attemptm bf t.IIe followlng ;

What isa woﬂcﬂqw‘? Describe the major workﬂows mvél‘Ved in software development.
Write: “shar! Hote on Hife-cycle architecture mllestone List the engineering artifacts
available at- ‘the hfe—cycle architecture milestone. .

What is erk bre‘al;ﬂown structure? What are the issues associated with conventional

- work breakdown stricture?
o, Wme short’ note Gnmmot mnIestones in a pfogect life-cycle.

\ rAttempt an g! of the followmg.

With the help of dtﬂgi*am explain the default roles and responsibilities in a software
Ime-cof-busmess orgamzatlon

> (.Bueﬂy expialrr the four important disciplines that are critical to the management
; '_context and the success of amodern iterative development process.

~ What is conﬁguratlon baseline? What are the different types of software change?
Expiam the actlvltms of soﬁware management team over the project life cycle.

'f'_-.Attempt any two 01' the followmg

Exp]alh the quahty mdlcators that provide an indication of the quality of software
S Systent o o &S

; *Defme metrmes LlSt out the basic characteristics of a good metric.

o
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Q. P. Code: 36130

Summarize process discrimination that result from dlfferencem Stakeholder cohesmn
With the help of diagram explain the two primary dnmensions of' pmcesﬁ '(arlabahty

Vel

Attempt any two of the following:
With the help of diagram explain the dlffercnce betw&an the progress prbﬁle of a
modern project and conventional project. :

Explain how a software cost model should be str-uctured'to best suppoft the estlmatmn :

of a modern software process. Hg S

Briefly explain the culture shifts in order to avmd fﬁction m transmomng to modern :
software process.

How does balancmg the top 10 soﬂwsré managemant pnhclples achxeva balance m
software economics equatlon? Jh SN i

:«/

Attempt any three of the fol]owm’g. o R N AL Ve

State Boehm’s top 10 pnﬂcip}és about cbnve.‘ﬂtmnal snftWare management
performance. : , g g

Write short note on requlrement ahd dcsign set; o
Explain top-down and bottﬁm~u{) approach of cost and sx:.heéiu}e estlmatmg process.
Explain the automatwn aids lmd" to& eomponcnts that sﬂpport the process workflows.
Define the followuxgie:rﬁs &

i)Earned value ulAcmaI €ost lu) Cost variance w)Expend.}me plan v)Schedule
variance e

List the char%ténsh@s of modei'n lteratlve develﬂpmc‘nt framewwk Explain the steps
to follow to transitlon toa matu:e 1terat|ve develeﬁment process.
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Q.P. Code: 36134
(2% hours)

: (1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary and state the assumptlons made.

(3) Answers to the same question must be written together.

(4) Numbers to the right indicate marks. S
(5) Draw neat labeled diagrams wherever necessary. '
(6) Use of Non-programmable calculators #&:gllowed.:

Attempt any two of the following: :

What are the responsibilities of Transport layer in OS] Model?
Explain Subnetting giving example.

Explain fields related to Fragmentation in detail.

Write a note on Global Unicast Address that covers followmg
Definition, Three levels of hnerarchy

Attempt any two of the following:

Draw and explain ATMARP Packet.

Explain Timestamp Request and Reply of ICMP.

Explain Data Transfer Phdse of Mobile communication.

Explain two node instability problem in Distance vector routing and its solution.

Attempt any two of the following:

Explain Features of UDP in detail.

Write and Explain algorithm of input module of UDP.
Draw and explain TCP Segment Format.

Explain Timers in TCP.

Aﬁempf any iwo of the following:

‘Explain Association establishment in SCTP.

Explain Data Chunk of SCTP with its packet format.
Draw and explain DHCP client state transition diagram.

Explain Recursive and Iterative Resolution in DNS.

Attempt any two of the following:

Explain NVT character set for option negotiation.

Explain Components of SSH.

Explain two FTP.connections, control and data with diagram.
Explain DATA and ACK message of TFTP.

e Attempt ém}g two of the following:

What is the role of Message Access Agent in email communication? Explain POP

“and IMAP.

Explain Web Based E- Mail.
Draw and explain RTP packet format.

- How do you download a compressed audio/video using a web server and using a

media server?

1
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Q.P. Code: 36134 o

Attempt gny three of the following:

Write points of comparison between [Pv4 and IPvé6.
Explain types of links available in OSPF.

Explain Congestion policy of TCP.

Explain Generic Domain,
Explain Persistence and n

Country Domain, and Inverse Domain._

on-persistence connection of HTTP..

How does Video compression (MPEG) happen? -

<
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